

MULTIVARIATE SYMMETRIC IDENTITIES

Abdelhamid Abderrezzak

L.I.T.P., Université Paris, 2 Place Jussieu, 75251 Paris cedex 05 France

(Submitted October 1994)

1. INTRODUCTION

As an application of Lagrange inversion, Riordan [9] gave the following expansions:

$$\exp(bz) = \sum_{k=0}^{\infty} \frac{b(ak+b)^{k-1}}{k!} (z \exp(-az))^k; \quad (1.1)$$

$$\frac{\exp(bz)}{1-az} = \sum_{k=0}^{\infty} \frac{(ak+b)^k}{k!} (z \exp(-az))^k; \quad (1.2)$$

$$(1-z)^b = \sum_{k=0}^{\infty} \frac{b}{ak+b} \binom{ak+b}{k} \left(\frac{z}{(1+z)^a} \right)^k; \quad (1.3)$$

$$\frac{(1+z)^b}{1-\frac{az}{1+z}} = \sum_{k=0}^{\infty} \binom{ak+b}{k} \left(\frac{z}{(1+z)^a} \right)^k. \quad (1.4)$$

Starting from these identities, Gould ([3], [4]) obtained various convolution identities. The multivariate case of (1.2) and (1.4) was obtained by Carlitz [1] using MacMahon's "master theorem."

Using other methods, Cohen and Hudson [2] gave bivariate generalizations of (1.1) and (1.2) that are different from those of Carlitz.

Krattenthaler [5] showed that the preceding formulas are a consequence of his bivariate version of Lagrange inversion; furthermore, he has generalized (1.3) and (1.4).

One must note that we do not need to use Lagrange inversion in two variables to prove these types of identities, as Krattenthaler did, but need only use Lagrange interpolation, which is a much simpler tool.

Lagrange interpolation must be considered as describing the properties of a linear operator sending a function of one variable to a symmetric function. It can be written as a summation on a set or as a product of divided differences; it is this latter version that we shall use here. In fact, in Section 2 we give the four Lagrange interpolation formulas, (2.1)-(2-4), that contain many of Krattenthaler's identities as special cases. In Section 3 we show how our Lagrange interpolation formulas can even be used to derive q -analogs of these identities.

2. MULTIPLE INTERPOLATION

Let $A = \{a_1, a_2, a_3, \dots\}$ and $B = \{b_1, b_2, b_3, \dots\}$ be two alphabets and let κ , ϕ , and ζ be three bivariate functions of x and y . For all positive integers m and n , put

$$\begin{aligned} K_1(m, n, x, y) &= \kappa(x, y)(\phi(x, y))^m(\zeta(x, y))^n, \\ K_2(m, n, x, y) &= \kappa(x, y)(\phi(x, y))_m(\zeta(x, y))_n, \\ K_3(m, n, x, y) &= \kappa(x, y)(\phi(x, y))^m(\zeta(x, y))_n, \\ K_4(m, n, x, y) &= \kappa(x, y)(\phi(x, y))_m(\zeta(x, y))^n, \end{aligned}$$

where $(a) \ln = a(a-1)(a-2) \cdots (a-n+1)$.

Lagrange interpolation generally stated that, for any function of one variable x , and "interpolation points" b, c, d, \dots

$$\begin{aligned} \frac{f(x)}{(x-b)(x-c)(x-d) \cdots} &= \frac{f(b)}{(x-b)(b-c)(b-d) \cdots} + \frac{f(c)}{(x-c)(c-b)(c-d) \cdots} \\ &+ \frac{f(d)}{(x-d)(d-b)(d-c) \cdots} + \text{remainder}. \end{aligned}$$

We shall only need the Lagrange interpolation formula, but written in a symmetrical manner. It is more satisfactory to consider the set $A = \{x, b, c, \dots, d\}$ and write

$$\sum_{a \in A} \frac{f(a)}{R(a, A \setminus a)} = \text{remainder},$$

where $R(a, A \setminus a)$ is the product $\prod_{a' \neq a} (a - a')$.

In other words, Lagrange interpolation amounts to considering properties of the linear operator $f \rightarrow \sum_{a \in A} f(a) / R(a, A \setminus a)$. This operator sends a polynomial of degree k to a symmetric polynomial in A of degree $k - n$, with $\text{card}(A) = n + 1$. In particular, it annihilates polynomials of degree $< n$, and maps $f(x) = x^n$ to the constant 1.

These properties suffice to characterize the Lagrange operator.

If $\phi(x, y, z, \dots)$ is a polynomial, the difference $\phi(x, y, z, \dots) - \phi(y, x, z, \dots)$ is divisible by $x - y$. Following Newton, for any pair of variables (x, y) , one defines a divided difference operator, ∂_{xy} , acting on the ring of polynomials as

$$\phi(x, y, \dots) \rightarrow \partial_{xy} \phi(x, y, \dots) = \frac{\phi(x, y, z, \dots) - \phi(y, x, z, \dots)}{x - y}.$$

It is clear that the product (now we need to order $A_{n+1} := \{a_1, a_2, \dots, a_{n+1}\}$)

$$\Lambda(A_{m+1}) := \partial_{a_n, a_{n+1}} \cdot \partial_{a_{n-1}, a_n} \cdots \partial_{a_1, a_2}$$

also satisfies the same properties and, therefore, coincides with the Lagrange operator (see [7]). Thus, we have

$$\Lambda(A_{m+1})\phi(a_1) = \sum_{k=1}^m \frac{\phi(a_{k+1})}{R(a_{k+1}, A_{m+1} \setminus a_{k+1})}.$$

One can note that divided differences are also the main ingredient in the Newton interpolation formula, and by relating their properties to the symmetric group one can extend Newton interpolation to multivariable functions (see [6] and [8]).

For our purpose, we shall use Lagrange interpolation for two independent alphabets and functions of two variables:

$$\Lambda(A_{m+1})\Lambda(B_{n+1})\phi(a_1, b_1) = \sum_{k=0}^m \sum_{p=0}^n \frac{\phi(a_{k+1}, b_{p+1})}{R(a_{k+1}, A_{m+1} \setminus a_{k+1})R(b_{p+1}, B_{n+1} \setminus b_{p+1})}.$$

We deduce, without difficulties, the following theorem.

Theorem: Let $A = \{a_1, a_2, a_3, \dots\}$ and $B = \{b_1, b_2, b_3, \dots\}$ be two infinite alphabets. Then we have:

$$\begin{aligned} & \sum_{m \geq 0, n \geq 0} \Lambda(A_{m+1})\Lambda(B_{n+1})K_1(m, n, a_1, b_1) t^m z^n \\ &= \sum_{k \geq 0, p \geq 0} \kappa(a_{k+1}, b_{p+1}) \frac{(\phi(a_{k+1}, b_{p+1}))^k (\zeta(a_{k+1}, b_{p+1}))^p}{R(a_{k+1}, A_k)R(b_{p+1}, B_p)} t^k z^p \\ & \times \sum_{m \geq 0, n \geq 0} \frac{(\phi(a_{k+1}, b_{p+1}))^m (\zeta(a_{k+1}, b_{p+1}))^n}{R(a_{k+1}, A_{m+k+1} \setminus A_{k+1})R(b_{p+1}, B_{n+p+1} \setminus B_{p+1})} t^m z^n, \end{aligned} \tag{2.1}$$

$$\begin{aligned} & \sum_{m \geq 0, n \geq 0} \Lambda(A_{m+1})\Lambda(B_{n+1})K_2(m, n, a_1, b_1) t^m z^n \\ &= \sum_{k \geq 0, p \geq 0} \kappa(a_{k+1}, b_{p+1}) \frac{(\phi(a_{k+1}, b_{p+1}))_k (\zeta(a_{k+1}, b_{p+1}))_p}{R(a_{k+1}, A_k)R(b_{p+1}, B_p)} t^k z^p \\ & \times \sum_{m \geq 0, n \geq 0} \frac{(\phi(a_{k+1}, b_{p+1}))_m (\zeta(a_{k+1}, b_{p+1}))_n}{R(a_{k+1}, A_{m+k+1} \setminus A_{k+1})R(b_{p+1}, B_{n+p+1} \setminus B_{p+1})} t^m z^n, \end{aligned} \tag{2.2}$$

$$\begin{aligned} & \sum_{m \geq 0, n \geq 0} \Lambda(A_{m+1})\Lambda(B_{n+1})K_3(m, n, a_1, b_1) t^m z^n \\ &= \sum_{k \geq 0, p \geq 0} \kappa(a_{k+1}, b_{p+1}) \frac{(\phi(a_{k+1}, b_{p+1}))^k (\zeta(a_{k+1}, b_{p+1}))_p}{R(a_{k+1}, A_k)R(b_{p+1}, B_p)} t^k z^p \\ & \times \sum_{m \geq 0, n \geq 0} \frac{(\phi(a_{k+1}, b_{p+1}))^m (\zeta(a_{k+1}, b_{p+1}))_n}{R(a_{k+1}, A_{m+k+1} \setminus A_{k+1})R(b_{p+1}, B_{n+p+1} \setminus B_{p+1})} t^m z^n, \end{aligned} \tag{2.3}$$

$$\begin{aligned} & \sum_{m \geq 0, n \geq 0} \Lambda(A_{m+1})\Lambda(B_{n+1})K_4(m, n, a_1, b_1) t^m z^n \\ &= \sum_{k \geq 0, p \geq 0} \kappa(a_{k+1}, b_{p+1}) \frac{(\phi(a_{k+1}, b_{p+1}))_k (\zeta(a_{k+1}, b_{p+1}))^p}{R(a_{k+1}, A_k)R(b_{p+1}, B_p)} t^k z^p \\ & \times \sum_{m \geq 0, n \geq 0} \frac{(\phi(a_{k+1}, b_{p+1}))_m (\zeta(a_{k+1}, b_{p+1}))^n}{R(a_{k+1}, A_{m+k+1} \setminus A_{k+1})R(b_{p+1}, B_{n+p+1} \setminus B_{p+1})} t^m z^n. \end{aligned} \tag{2.4}$$

We shall use the above theorem in the case of different specializations κ , ϕ , and ζ for which the divided difference is easily calculable. The simple fact that the operator $\Lambda(A_{m+1})$ decreases the total degree in A by m implies the following identities.

Lemma (2.5): If we specialize $\kappa(x, y) \rightarrow 1$, $\phi \rightarrow \phi_1(x, y) = \frac{\lambda_1 + \mu_1 x}{\lambda_2 + \mu_2 y}$ and $\zeta \rightarrow \zeta_1(x, y) = \frac{\lambda_2 + \mu_2 y}{\lambda_1 + \mu_1 x}$, we obtain

$$\begin{aligned} \Lambda(A_{m+1})\Lambda(B_{n+1})K_1(m, n, a_1, b_1) &= \Lambda(A_{m+1})\Lambda(B_{n+1})K_2(m, n, a_1, b_1) \\ &= \Lambda(A_{m+1})\Lambda(B_{n+1})K_3(m, n, a_1, b_1) \\ &= \begin{cases} \left(\frac{\mu_1}{\lambda_2 + \mu_2 b_1}\right)^m & \text{if } n = 0, \\ \left(\frac{\mu_2}{\lambda_1 + \mu_1 a_1}\right)^n & \text{if } m = 0, \\ 0 & \text{otherwise.} \end{cases} \end{aligned}$$

Lemma (2.6): If we put $\kappa(x, y) \rightarrow \kappa_1(x, y) = \frac{1}{\lambda_1 + \mu_1 x}$, $\phi \rightarrow \phi_1(x, y) = \frac{\lambda_1 + \mu_1 x}{\lambda_2 + \mu_2 y}$, and $\zeta \rightarrow \zeta_2(x, y) = \frac{\lambda_2 + \mu_2 y}{\lambda_1 + \mu_1 x}(\alpha_1 + \beta_1 x)$, we obtain

$$\begin{aligned} \Lambda(A_{m+1})\Lambda(B_{n+1})K_1(m, n, a_1, b_1) &= \Lambda(A_{m+1})\Lambda(B_{n+1})K_2(m, n, a_1, b_1) \\ &= \Lambda(A_{m+1})\Lambda(B_{n+1})K_3(m, n, a_1, b_1) \\ &= \Lambda(A_{m+1})\Lambda(B_{n+1})K_4(m, n, a_1, b_1) \\ &= \begin{cases} \frac{1}{\lambda_1 + \mu_1 a_1} \left(\frac{\beta_1 + \alpha_1 a_1}{\lambda_1 + \mu_1 a_1}\right)^m & \text{if } m = 0, \\ 0 & \text{otherwise.} \end{cases} \end{aligned}$$

Lemma (2.7): If we put $\kappa(x, y) \rightarrow \kappa_2(x, y) = \frac{\lambda_1 \alpha_2}{(\lambda_1 + \mu_1 x)(\alpha_2 + \beta_2 y)} + \frac{\lambda_2 \alpha_1}{(\lambda_2 + \mu_2 y)(\alpha_1 + \beta_1 x)} - \frac{\alpha_1 \alpha_2}{(\alpha_1 + \beta_1 x)(\alpha_2 + \beta_2 y)}$, $\phi \rightarrow \phi_2(x, y) = \frac{\lambda_1 + \mu_1 x}{\lambda_2 + \mu_2 y}(\alpha_2 + \beta_2 y)$, and $\zeta \rightarrow \zeta_2(x, y) = \frac{\lambda_2 + \mu_2 y}{\lambda_1 + \mu_1 x}(\alpha_1 + \beta_1 x)$, we obtain

$$\begin{aligned} \Lambda(A_{m+1})\Lambda(B_{n+1})K_1(m, n, a_1, b_1) &= \Lambda(A_{m+1})\Lambda(B_{n+1})K_2(m, n, a_1, b_1) \\ &= \Lambda(A_{m+1})\Lambda(B_{n+1})K_3(m, n, a_1, b_1) \\ &= \begin{cases} \kappa_2(a_1, b_1) & \text{if } m = n = 0, \\ 0 & \text{otherwise.} \end{cases} \end{aligned}$$

Lemma (2.8): If we put $\kappa(x, y) \rightarrow \kappa_3(x, y) = \frac{1}{(\lambda_1 + \mu_1 x)(\lambda_2 + \mu_2 y)}$, $\phi \rightarrow \phi_2(x, y) = \frac{\lambda_1 + \mu_1 x}{\lambda_2 + \mu_2 y}(\alpha_2 + \beta_2 y)$, and $\zeta \rightarrow \zeta_2(x, y) = \frac{\lambda_2 + \mu_2 y}{\lambda_1 + \mu_1 x}(\alpha_1 + \beta_1 x)$, we obtain

$$\begin{aligned} &\Lambda(A_{m+1})\Lambda(B_{n+1})K_1(m, n, a_1, b_1) \\ &= \begin{cases} \frac{1}{\mu_1 \mu_2} (\alpha_1 - \frac{\beta_1}{\mu_1} \lambda_1)^m (\alpha_2 - \frac{\beta_2}{\mu_2} \lambda_2)^n \left(\prod_{j=0}^m (\frac{\lambda_1}{\mu_1} + a_{j+1})\right)^{-1} \left(\prod_{j=0}^n (\frac{\lambda_2}{\mu_2} + b_{j+1})\right)^{-1} & \text{if } m = n, \\ 0 & \text{otherwise.} \end{cases} \end{aligned}$$

The identities (2.1)-(2.10) and (3.16) of Krattenthaler [5] arise as different specializations of the functions κ , ϕ , and ζ considered in Lemmas (2.5)-(2.8) above, and to the case in which $A = B = \{0, 1, 2, \dots\}$. For each of the four cases given in our Theorem, we give the formulas when A and B are general. We then specialize to the case where A and B are sequences of " q -integers."

3. APPLICATION OF IDENTITY (2.1)

Formula (2.1) and the previous lemmas provide the following identities:

I) In the case where A and B are general alphabets, we have

$$\begin{aligned} & \left(1 - \frac{\mu_1}{\lambda_1 + \mu_1 a_1 \lambda_2 + \mu_2 b_1} tz\right) \left(1 - \frac{\mu_1}{\lambda_2 + \mu_2 b_1} t\right)^{-1} \left(1 - \frac{\mu_2}{\lambda_1 + \mu_1 a_1} z\right)^{-1} \\ &= \sum_{k \geq 0, p \geq 0} \frac{(\phi_1(a_{k+1}, b_{p+1}))^k (\zeta_1(a_{k+1}, b_{p+1}))^p}{R(a_{k+1}, A_k) R(b_{p+1}, B_p)} t^k z^p \\ & \times \sum_{m \geq 0, n \geq 0} \frac{(\phi_1(a_{k+1}, b_{p+1}))^m (\zeta_1(a_{k+1}, b_{p+1}))^n}{R(a_{k+1}, A_{m+k+1} \setminus A_{k+1}) R(b_{p+1}, B_{n+p+1} \setminus B_{p+1})} t^m z^n, \end{aligned} \tag{3.1}$$

$$\begin{aligned} \frac{1}{(\lambda_1 + \mu_1 a_1) - (\alpha_1 + \beta_1 a_1) \mu_2 z} &= \sum_{k \geq 0, p \geq 0} \frac{1}{\lambda_1 + \mu_1 a_{k+1}} \frac{(\phi_1(a_{k+1}, b_{p+1}))^k (\zeta_2(a_{k+1}, b_{p+1}))^p}{R(a_{k+1}, A_k) R(b_{p+1}, B_p)} t^k z^p \\ & \times \sum_{m \geq 0, n \geq 0} \frac{(\phi_1(a_{k+1}, b_{p+1}))^m (\zeta_2(a_{k+1}, b_{p+1}))^n}{R(a_{k+1}, A_{m+k+1} \setminus A_{k+1}) R(b_{p+1}, B_{n+p+1} \setminus B_{p+1})} t^m z^n, \end{aligned} \tag{3.2}$$

$$\begin{aligned} \kappa_2(a_1, b_1) &= \sum_{k \geq 0, p \geq 0} \kappa_2(a_{k+1}, b_{p+1}) \frac{(\phi_2(a_{k+1}, b_{p+1}))^k (\zeta_2(a_{k+1}, b_{p+1}))^p}{R(a_{k+1}, A_k) R(b_{p+1}, B_p)} t^k z^p \\ & \times \sum_{m \geq 0, n \geq 0} \frac{(\phi_2(a_{k+1}, b_{p+1}))^m (\zeta_2(a_{k+1}, b_{p+1}))^n}{R(a_{k+1}, A_{m+k+1} \setminus A_{k+1}) R(b_{p+1}, B_{n+p+1} \setminus B_{p+1})} t^m z^n, \end{aligned} \tag{3.3}$$

$$\begin{aligned} & \frac{1}{\mu_1 \mu_2} \sum_{j=0} \left(\left(\alpha_1 - \frac{\beta_1}{\mu_1} \lambda_1 \right) \left(\alpha_2 - \frac{\beta_2}{\mu_2} \lambda_2 \right) tz \right)^j \left(\prod_{s=0}^j \left(\frac{\lambda_1}{\mu_1} + a_{s+1} \right) \right)^{-1} \left(\prod_{s=0}^j \left(\frac{\lambda_2}{\mu_2} + b_{s+1} \right) \right)^{-1} \\ &= \sum_{k \geq 0, p \geq 0} \frac{1}{(\lambda_1 + \mu_1 a_{k+1})(\lambda_2 + \mu_2 b_{p+1})} \frac{(\phi_2(a_{k+1}, b_{p+1}))^k (\zeta_2(a_{k+1}, b_{p+1}))^p}{R(a_{k+1}, A_k) R(b_{p+1}, B_p)} (-t)^k (-z)^p \\ & \times \sum_{m \geq 0, n \geq 0} \frac{(\phi_2(a_{k+1}, b_{p+1}))^m (\zeta_2(a_{k+1}, b_{p+1}))^n}{R(a_{k+1}, A_{m+k+1} \setminus A_{k+1}) R(b_{p+1}, B_{n+p+1} \setminus B_{p+1})} (-t)^m (-z)^n. \end{aligned} \tag{3.4}$$

II) Let $[n] = \frac{1-q^n}{1-q}$, $[n]! = [n][n-1] \cdots [1]$, $\exp_q(x) = \sum_{n=0}^{\infty} \frac{x^n}{[n]!}$. Then in the case $A = \{0, [1], [2], \dots\}$, $B = \{0, [1], [2], \dots\}$, we obtain q -analogs for Krattenthaler's identities (2.1), (2.4), (2.8), and (3.6) in [5]. For example, from (3.1), we obtain the following q -analog of (2.1) in [5].

$$\begin{aligned} \left(1 - \frac{\mu_1}{\lambda_1} \frac{\mu_2}{\lambda_2} tz\right) \left(1 - \frac{\mu_1}{\lambda_2} t\right)^{-1} \left(1 - \frac{\mu_2}{\lambda_1} z\right)^{-1} &= \sum_{k \geq 0, p \geq 0} \frac{(\phi_1([k], [p]))^k ((\zeta_1([k], [p])))^p}{q^{k(k-1)/2} [k]! q^{p(p-1)/2} [p]!} t^k z^p \\ & \times \exp_q \left(-\frac{\phi_1([k], [p])}{q^k} t \right) \exp_q \left(-\frac{\zeta_1([k], [p])}{q^p} z \right). \end{aligned} \tag{3.5}$$

4. APPLICATION OF IDENTITY (2.2)

I) In the case where A and B are general alphabets, we have

$$\begin{aligned} & \left(1 - \frac{\mu_1}{\lambda_1 + \mu_1 a_1} \frac{\mu_2}{\lambda_2 + \mu_2 b_1} tz\right) \left(1 - \frac{\mu_1}{\lambda_2 + \mu_2 b_1} t\right)^{-1} \left(1 - \frac{\mu_2}{\lambda_1 + \mu_1 a_1} z\right)^{-1} \\ &= \sum_{k \geq 0, p \geq 0} \frac{(\phi_1(a_{k+1}, b_{p+1}))_k (\zeta_1(a_{k+1}, b_{p+1}))_p}{R(a_{k+1}, A_k) R(b_{p+1}, B_p)} t^k z^p \\ & \times \sum_{m \geq 0, n \geq 0} \frac{(\phi_1(a_{k+1}, b_{p+1}))_m (\zeta_1(a_{k+1}, b_{p+1}))_n}{R(a_{k+1}, A_{m+k+1} \setminus A_{k+1}) R(b_{p+1}, B_{n+p+1} \setminus B_{p+1})} t^m z^n, \end{aligned} \tag{4.1}$$

$$\begin{aligned} \frac{1}{(\lambda_1 + \mu_1 a_1) - (\alpha_1 + \beta_1 a_1) \mu_2 z} &= \sum_{k \geq 0, p \geq 0} \frac{1}{\lambda_1 + \mu_1 a_{k+1}} \frac{(\phi_1(a_{k+1}, b_{p+1}))_k (\zeta_2(a_{k+1}, b_{p+1}))_p}{R(a_{k+1}, A_k) R(b_{p+1}, B_p)} t^k z^p \\ & \times \sum_{m \geq 0, n \geq 0} \frac{(\phi_1(a_{k+1}, b_{p+1}))_m (\zeta_2(a_{k+1}, b_{p+1}))_n}{R(a_{k+1}, A_{m+k+1} \setminus A_{k+1}) R(b_{p+1}, B_{n+p+1} \setminus B_{p+1})} t^m z^n, \end{aligned} \tag{4.2}$$

$$\begin{aligned} \kappa_2(a_1, b_1) &= \sum_{k \geq 0, p \geq 0} \kappa_2(a_{k+1}, b_{p+1}) \frac{(\phi_2(a_{k+1}, b_{p+1}))_k (\zeta_2(a_{k+1}, b_{p+1}))_p}{R(a_{k+1}, A_k) R(b_{p+1}, B_p)} t^k z^p \\ & \times \sum_{m \geq 0, n \geq 0} \frac{(\phi_2(a_{k+1}, b_{p+1}))_m (\zeta_2(a_{k+1}, b_{p+1}))_n}{R(a_{k+1}, A_{m+k+1} \setminus A_{k+1}) R(b_{p+1}, B_{n+p+1} \setminus B_{p+1})} t^m z^n, \end{aligned} \tag{4.3}$$

II) For example, in the case $A = \{0, [1], [2], \dots\}$, $B = \{0, [1], [2], \dots\}$ we obtain from (4.2) the following q -analog of (2.5) in [5].

$$\begin{aligned} \frac{1}{\lambda_1 - \alpha_1 \mu_2 z} &= \sum_{k \geq 0, p \geq 0} \frac{1}{\lambda_1 + \mu_1 [k]} \frac{(\phi_1([k], [p]))_k ((\zeta_2([k], [p]))_p)}{q^{k(k-1)/2} [k]! q^{p(p-1)/2} [p]!} t^k z^p \\ & \times \sum_{m \geq 0, n \geq 0} (-1)^{m+n} \frac{(\phi_1([k], [p]) - k)_m (\zeta_2([k], [p]) - p)_n}{q^{mk} [m]! q^{np} [n]!} t^m z^n. \end{aligned} \tag{4.4}$$

5. APPLICATION OF IDENTITY (2.3)

I) In the case where A and B are general alphabets, we have

$$\begin{aligned} & \left(1 - \frac{\mu_1}{\lambda_1 + \mu_1 a_1} \frac{\mu_2}{\lambda_2 + \mu_2 b_1} tz\right) \left(1 - \frac{\mu_1}{\lambda_2 + \mu_2 b_1} t\right)^{-1} \left(1 - \frac{\mu_2}{\lambda_1 + \mu_1 a_1} z\right)^{-1} \\ &= \sum_{k \geq 0, p \geq 0} \frac{(\phi_1(a_{k+1}, b_{p+1}))^k (\zeta_1(a_{k+1}, b_{p+1}))_p}{R(a_{k+1}, A_k) R(b_{p+1}, B_p)} t^k z^p \\ & \times \sum_{m \geq 0, n \geq 0} \frac{(\phi_1(a_{k+1}, b_{p+1}))^m (\zeta_1(a_{k+1}, b_{p+1}))_n}{R(a_{k+1}, A_{m+k+1} \setminus A_{k+1}) R(b_{p+1}, B_{n+p+1} \setminus B_{p+1})} t^m z^n, \end{aligned} \tag{5.1}$$

$$\frac{1}{(\lambda_1 + \mu_1 a_1) - (\alpha_1 + \beta_1 a_1) \mu_2 z} = \sum_{k \geq 0, p \geq 0} \frac{1}{\lambda_1 + \mu_1 a_{k+1}} \frac{(\phi_1(a_{k+1}, b_{p+1}))^k (\zeta_2(a_{k+1}, b_{p+1}))_p}{R(a_{k+1}, A_k) R(b_{p+1}, B_p)} t^k z^p$$

$$\times \sum_{m \geq 0, n \geq 0} \frac{(\phi_1(a_{k+1}, b_{p+1}))^m (\zeta_2(a_{k+1}, b_{p+1}))_n}{R(a_{k+1}, A_{m+k+1} \setminus A_{k+1}) R(b_{p+1}, B_{n+p+1} \setminus B_{p+1})} t^m z^n, \tag{5.2}$$

$$\kappa_2(a_1, b_1) = \sum_{k \geq 0, p \geq 0} \kappa_2(a_{k+1}, b_{p+1}) \frac{(\phi_2(a_{k+1}, b_{p+1}))^k (\zeta_2(a_{k+1}, b_{p+1}))_p}{R(a_{k+1}, A_k) R(b_{p+1}, B_p)} t^k z^p$$

$$\times \sum_{m \geq 0, n \geq 0} \frac{(\phi_2(a_{k+1}, b_{p+1}))^m (\zeta_2(a_{k+1}, b_{p+1}))_n}{R(a_{k+1}, A_{m+k+1} \setminus A_{k+1}) R(b_{p+1}, B_{n+p+1} \setminus B_{p+1})} t^m z^n, \tag{5.3}$$

II) For example, in the case $A = \{0, [1], [2], \dots\}$, $B = \{0, [1], [2], \dots\}$ we obtain from (5.3) the following q -analog of (2.10) in [5].

$$1 = \sum_{k \geq 0, p \geq 0} \kappa_2([k], [p]) \frac{(\phi_2([k], [p]))^k ((\zeta_2([k], [p]))_p)}{q^{k(k-1)/2} [k]! q^{p(p-1)/2} [p]!} t^k z^p$$

$$\times \exp_q \left(-\frac{\phi_2([k], [p])}{q^k} t \right) \sum_{n \geq 0} (-1)^n \frac{(\zeta_2([k], [p]) - p)_n}{q^{np} [n]!} z^n. \tag{5.4}$$

6. APPLICATION OF IDENTITY (2.4)

I) In the case where A and B are general alphabets, we have

$$\frac{1}{(\lambda_1 + \mu_1 a_1) - (\alpha_1 + \beta_1 a_1) \mu_2 z} = \sum_{k \geq 0, p \geq 0} \frac{1}{\lambda_1 + \mu_1 a_{k+1}} \frac{(\phi_1(a_{k+1}, b_{p+1}))_k (\zeta_2(a_{k+1}, b_{p+1}))^p}{R(a_{k+1}, A_k) R(b_{p+1}, B_p)} t^k z^p$$

$$\times \sum_{m \geq 0, n \geq 0} \frac{(\phi_1(a_{k+1}, b_{p+1}))_m (\zeta_2(a_{k+1}, b_{p+1}))^n}{R(a_{k+1}, A_{m+k+1} \setminus A_{k+1}) R(b_{p+1}, B_{n+p+1} \setminus B_{p+1})} t^m z^n. \tag{6.1}$$

II) For example, in the case $A = \{0, [1], [2], \dots\}$, $B = \{0, [1], [2], \dots\}$ we obtain from (6.1) the following q -analog of (2.7) in [5].

$$\frac{1}{\lambda_1 - \alpha_1 \mu_2 z} = \sum_{k \geq 0, p \geq 0} \frac{1}{\lambda_1 + \mu_1 [k]} \frac{(\phi_1([k], [p]))_k ((\zeta_2([k], [p]))^p)}{q^{k(k-1)/2} [k]! q^{p(p-1)/2} [p]!} t^k z^p$$

$$\times \exp_q \left(-\frac{\zeta_2([k], [p])}{q^k} z \right) \sum_{m \geq 0} (-1)^m \frac{(\phi_1([k], [p]) - p)_m}{q^{mp} [m]!} t^m. \tag{6.2}$$

ACKNOWLEDGMENT

I am very grateful to the referee whose remarks greatly improved the presentation of this article.

REFERENCES

1. L. Carlitz. "Some Expansions and Convolution Formulas Related to MacMahon's Master Theorem." *SIAM J. Anal.* **8.2** (1977):320-36.
2. M. E. Cohen & D. L. Hudson. "On Exponential Series Expansions and Convolutions." *The Fibonacci Quarterly* **21.2** (1977):111-17.
3. H. W. Gould. "Some Generalizations of Vandermonde's Convolution." *Amer. Math. Monthly* **63** (1956):84-91.
4. H. W. Gould. "Generalizations of a Theorem of Jensen Concerning Convolutions." *Duke Math. J.* **27** (1956):71-76.
5. C. Krattenthaler. "A Two Variable Lagrange-Type Inversion Formula with Applications to Expansion and Convolution Identities." *The Fibonacci Quarterly* **28.3** (1990):215-22.
6. A. Lascouz & M. P. Schützenberger. "Décompositions dans l'algèbre des différences divisées." *Discrete Math.* **99** (19??):165-75.
7. A. Lascouz & M. P. Schützenberger, in *Séminaire d'algèbre M. P. Malliavin* 1984, Springer L.N. 1146.
8. I. G. Macdonald. "Notes on Schubert Polynomials." Publ. LACIM 6, UQAM, Montréal, 1991.
9. J. Riordan. *Combinatorial Identities*. New York: John Wiley, 1968.

AMS Classification Numbers: 11A25, 05E05



**FIBONACCI ENTRY POINTS AND PERIODS FOR PRIMES
100,003 THROUGH 415,993**

A Monograph
by Daniel C. Fielder and Paul S. Bruckman
Members, The Fibonacci Association

In 1965, Brother Alfred Brousseau, under the auspices of The Fibonacci Association, compiled a two-volume set of Fibonacci entry points and related data for the primes 2 through 99,907. This set is currently available from The Fibonacci Association as advertised on the back cover of *The Fibonacci Quarterly*. Thirty years later, this new monograph complements, extends, and triples the volume of Brother Alfred's work with 118 table pages of Fibonacci entry-points for the primes 100,003 through 415,993.

In addition to the tables, the monograph includes 14 pages of theory and facts on entry points and their periods and a complete listing with explanations of the *Mathematica* programs used to generate the tables. As a bonus for people who must calculate Fibonacci and Lucas numbers of all sizes, instructions are available for "stand-alone" application of a fast and powerful Fibonacci number program which outclasses the stock Fibonacci programs found in *Mathematica*. The Fibonacci portion of this program appears through the kindness of its originator, Dr. Roman Maeder, of ETH, Zürich, Switzerland.

The price of the book is \$20.00; it can be purchased from the Subscription Manager of *The Fibonacci Quarterly* whose address appears on the inside front cover of the journal.